
Rapporti e proporzioni 
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Risolvi le segu-:>nti proporzioni continue. (Esercizi dal n. 153 al n. 171.} 

I 53. 2 . x ){ · 18; 

I 54. 3 . :< : 75; 

155. 3l- X . 49; 

156. X '): X; 

157. X ..;=--L4: X; 

I 58. x : .24 = 54 : x; 
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I 59. - · X = X · - · 3. . 25' 
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I 60. 4 : X = X : - ; 
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161 . - ·x= x ·-· 4 . . 49 ' 

5 15 162. - ·X = X· - · 6. . 2 ' 

163. 
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X: - = - :X; 
56 7 

164. ( 2 + ~) X = X ( ~: -1} 

'65. ( 3 + ! ) X = X ( ! -½} 

18 : X= X: 8. 

6: X= X: 150. 

84: X= X: 21. 

X: 12 = 3: X. 

X: 44 = 11: X. 

X : 35 = 140 : X. 

2 8 
X : - = - : X. 
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-· x=x· -15 . . 35. 
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-· x =x· -5 . . 5. 

~:X= X: 84. 
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- · x = x· -8 . . 2. 
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